Name: 9 April 2020

1) 11k =22 2) 21 = 3(6i — 5)

Answer: Answer:
3) 42=9d -3 4) 5(3n—4) = 5(5n—4)

Answer: Answer:
5) Tp—2=6p—+3 6) %zﬁ

Answer: Answer:
7) 4(5d — 4) =164 8) Ty—4=17

Answer: Answer:
9) 4(5t—|—2):2(5t+4) 10) 6n+3 =4n+ 15

Answer: Answer:
M) k—7=2 12) 120 = 5(5u + 4)

Answer: Answer:
13) —55 =9 — 8y 14) 4(5v+4) :6(41)—4)

Answer: Answer:




15) 9j+2 =65+ 35

16) r—4=9

Answer: Answer:
17) 6(3y—3) = 216 18) 8h + 10 = 82

Answer: Answer:
19) 4(5z — 3) = 2(5z + 4) 20) 10t +3 =Tt + 18

Answer: Answer:

Total:

120





